Warm Up 1.5

Name Period

Rearrange each of the equations below to be in Slope-Intercept form (y = mx + b)

1. 3x+5y=15 2. -6x +2y =24

Rearrange each of the equations below to be in Standard form (Ax + By = C)

3. y=%x—4 4. 2y-4=-3(x+6)

Write an inequality for the given scenario and then graph the inequalities on the grid
provided. Be sure to indicate all coordinates that satisfy the inequality.

5. Jennifer is helping sell tickets for a chess club fundraiser. She sells child and adult
tickets to the event, child tickets cost $2 and adult tickets are $5. The chess club is
attempting to raise at least $120. Write an inequality that could be used to find possible
values for Jennifer’s situation. Graph the inequality on the grid.



